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{1 257 @ 1
3] 45° 4} 307
{5] None of these

B1. One of the angles of a paralielo-
gram i= 42°. What is the sum of

9. The breadth of a rectangle is hall
ofits length. Also, the length of
the rectangle is squal to the rodi-
us of a circle of area 154 sq.
cms. What is the perimeter of the

half the smallest angle and twice rectangle ?

the largest angle of the paralielo- 1) 205 cm=s. (2} 22 cms.
gram 7 (3 42 cms. 4 10.5 cms.
(1) 256" 5] None of these

@) 307 95. fa rumber is multiplied by two-
@ o7 third of itsel the vahoe so obtnined

[ Cannot be detenmined
(3 None of these

9. In an examination it is cequired
o get 45% marks to pass. Jas-
winder secured 612 marks and
fomiled by 108 maorks. What are

iz B&4. What is the mumber ?

(1} 46 {2 34
(3 36 4 44
(5 38

Ofi. What approzimate value shoukd
mme in place of the guestion

amirustion 7 ? [You are not exgpected o calou-
{1) 1800 @) 1600 late the exnct vahuej
@ 1700 #1500 DOED + 40 x (4.9 - 1130 =2
(5 None of these (1} 3800 {2) 4500

93, Hitwo men or six women or fbar 3} 2600 41 3000
‘boys can finish a work in ‘99 days, (5} 408D

then how many diys will one man,
one woman and one boy together
take to fimish the same work ?
(1) 54 doys @ 64 days

3 44 dons 4 104 days

{5] Mome of these

97. In how many different ways can
the letters of word 'REMAKE' be

arranged ?
{1) 720 {2 B0
3 360 4 180

(5] Mone of these

CLERICAL APTITUDE

98. A man covered a distance of 180
km=. in 4 hours on a bike. How
much distance will e coveron o
bicycle in B hours if he rides the
hicycle at one-sikth the speed of
the bilee ?

1] T2 koms, 2 54 loms.
E 84 koms. i 60 kms.
{5} None of these

4 5 13
99, Ot of the fractions ———.—

u.rd‘;—.wii:h'uﬂtmdlﬂr

est fraction ?
1
1 2

3

15l

100. The perimeter of a Square is squal
to the perimeter of a rectongle of
length 30 cms. The aren of the
rectangie is 360 =qg. cms. What
is the side of the Bquare
11} 24 cms. 2 21 cms
13 42 cmis. 4 18 oms
(3 None of these

ol mies B

Directons [ 101-138}: In each question below o combination of Mame and Address is given in the first cohomn at the
eft fnllowed by four such combinations one esch under the olumns 1.2.3 and 2. You have to Gnd out the combinstion
which is exactly the same ns the combination in the first unmumbered column. The mumber of that oohomn whach
contains that combination is the answer. If all the combinations are different, the answer is |5).

i ) a) 5

101. ChotuDoma Chotu Dana Chotu Dioma Chotu Doma Chaota Dona None:
34 C2- College 3A C2- College JACAZ- College 3A C2- Caollege 3A C2- College
Gowt. Chewk Govi. Chuwk Govt. Chawle Govt. Chawic Gove. Chawlc

1. Vijay Burmar Vijoy Kuamar Wiy Kumar Vijey Buarnar Wijoy Kiomar Mone
DA V. School DAY, School VA School DA V. Schoal DAY, School
Abhoar-343 Abhoar-343 Abhoar-343 Abhoar-343 Abhaor-343

108, PowanBilhs Powan Billu Pawan Billu Pawan Billu Parwan Ballu MNone
Room No. 32 Room No. 23 Room Mo 32 Room Nio. 32 Room No. 32
Army Boys Hostel  Army Boys Hostel  Army Boys Hostel  Army Boes Hostel  Army Boys Hostel

104, Prem Kurmari Prem Kumari Prem Kumar Prem Kumari Prem Kumari None:
BEd. Trainees BEd. Traines BEd. Trainse BEd Trinnes BEd. Traines
Gurdaspur-59 Gurdospur-59 Gurdaspur-59 Gurdaspur-59 Gurdaspur-59

105. RahulRoy RahulRoy Rabuil Roy Rahul Ray Rehul Roy Yre
Ramgarh Road Ramgahr Road Ramgarh Riomd Ramgarh Road Ramgarh Roadd
Purvanchal-53 Purvanchal-53 Purvanchnl-35 Purmnchal-53 Purvanchal-53

106. Manishlain Monash Jain Manish.Jain Manish fain Manizh Jaina Tewree
S5Co - 387 /A9 SCo - BBT A9 5Co - SBT fAD SCo - SBT/A9 BCo - GBTfAS
Bector - 17 Sector- 17 Sector - 71 Sector - 17 Bector - 1T

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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107. PrabhatDev
73/53 Bidg,
Rajdhan Marg

108, MNestin Devi
Prabhu Chowlc
Kandawali (E)

109, SumjBhanu
Tele - BO34324
Model Town

110. NandanSeth
BHOTeacher
Garhi Cantt

111, Mim Krishan
Near Temple
Surat-434321

112, ManiRatnan
Film City. 634
Mumbai - 45

113. AmritPal
53, Cricket GM
SATE - 96

114, Manoj Rana
G-73 Maji Khel
Sirampur-54

118, JaiPalSingh
L-U Narm Marg
Village -Pum

116, Jyotimak.S.
Grami Mokeall
Mainpuri-37

117, MirzaSanu
Kinter Berg - 43
Toranto- 3431

11B. Prithvi Singh
Oid Hase Colony

118. RarmnanPriya
593, SKW
Manch Rood

A9 3, BEW
Aslamabad

12]1. B.5. Raghav
M4381,/93
e

1X). Prablni Deva
Classic Damnoer

Cinemmo - 53

Prabhat Dev
37/53 BMg..
Rajdham Marg
Neetu Devi
Prabhu Chowlke
Kandevali {E}
Bumyj Bharmm
Tele - 6934423
Model Town

Mandan Seth
BHU Teacher
Garhi Cantt
Mir Krishan
Near Temple
Surat-434321

BMaonu Ratnan
Film City, 634
Mumbai - 45
Amrit Pal

33, Cricket GM
SATE - 96
Monaj Rama
G-73 Maji Khel
Sirarmpur-5%
«Jai Pol Singh
LA Nanu Marg
Yillage - Purm
JyotimaS. K.
Grami Mohall
Mainpuri-37
Mirza Sanu
Kintnr Berg - 43
Toranto-3431
Prithvi Sirud
0dd Base Colormy
593, SKW
Marnch Rosd
Manjo Jaswal
A9/3, SKW
Aslyrmabad

B.5. Raghm
M4381 /93
Santijain

Prablu Dova
Classic Danoer

Cinemasoo - 53
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Prabhat Dev
73/53 Bldg,,
Rajdhani Mung
Neetu Devi
Prabin Chowlk
Kandavali {E)

Surai B

Tele - 6934334
Mode] Town

Nandun Seth
BHOTeacher
Garhd Cantt
Mem Krishan
Near Temple
Surat-434321
Mani Ratnan
Film City, 634
Mumbai - 35
Amnit Pal

53, Cricket GM
SETA - 96
Mano Rana
G-73 Manji Khel
Simmpur-54
Jai Pal Singh
LT Marmy Muorgr
Willage -Pourn
Jvotima K5,
Grani Mokhall
Mainpuri-37
MirzaSanu
Kinter Berg - 43
Toronto - 3431
Prithve Singh
Ol Base Colomy
Base Hospatal
5-39, SKW
Mandi Food
ADS3, BHW
Aslnrnabed

R.5. Raghawv
M4381/93
P
Prabhu Deva
Classic Dencer

Cimemaxo - 53

Prabhat Deva
T3/53 Bldg,,
Rajdhani Marg
et Deye
Prabhu Chimde
Kandmah i.1

Surmi B

Tele - 6934324
Modal Town

Nandan Seth
BHO Lender
Garkd Canit
Mira Krshan
Near Temple
Surat - 434321

Mani Ratnan
Film City, 634
Mumbai - 45
Ammrit Pal

35, Cricket GM
SATE - 96
Monpi Rana
G-T3 Maiji Khel
Sirmmpaor-54
Jai Pal Singh
LT Marms Mg
Village -Pum
Jyotima K5
Grami Mohall
Mainpuri-87
MirzaSanu
Kinter Berg - 43
Toranto-343 1
Prithi Singt
Oid Base Colomy
Buse Hospital
593, SEW
Minndi Lome

A 9/3, SKW
Islamabad

B.E. Raghav
M4381,/93
Santmm
Prabha Deva
Classic Dancer
Cinermasm - 53

Mira Krshan
Mear Temple
Soorat-434321
Bnni Ratnan
Film City, 643
Mumbai - 45
Amrit Paul

53, Cricket GM
SATE - 96
Manoj Ramn
G-3T Maji Khel
Sirarmpur-54
Jai Pal Singh
LU Marny Marg
Village -Purn
Jhyotima K5
Grami Maohall
Mainpuri-37
Marja Sama
Kinter Berg - 43
Toranto-3431
COid Base Colarmy
5-93, SKW
Mandi Road

A 9S8, BKW
Aslamabad

BB Raghaw
M43R1/739
Prabhu Deva
Classic Dancer
Cinermaon - 53

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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LI Mena Kour Mena Kaur Mena Kaur Mena Kaur Mena Kuar
Dy oSokjit Manmn Do Solgit Mann Difo Solkit Monn Do Bakjit Mann Do Salgit Mann
Sector - 26 Sector - 26 Sector - 26 Sector - 62 Sector - 26
IR Meernal.). Meremnel J. Meernal .J. Meernal J. Meernal.J.
Wing - 734/9 Wing - 734/9 Wing - T34/9 Wing - T34,/ Wing - T43,/9
Ihghaoi - 9431 Dghoi - 9431 Dhighai- 9431 Dhighoi-9431 Dighoi-9431
L. Phyysh Chepamn Piuysh Chawan Piysh Chavenn Piuysnh Chowan Piuysh Chavan
Prince Chowk Prince Choewke Prince Chowlc Prince Chawlc Prince Chowlk
126 Kiran.Johar KarnnJohar Kiran Johar Kiran Johar Kiran Jahar
Munager, GM Manager, GM Manager, GM Manmagar, GM Manager, MG
XYINT Bank XNT Bank XKYNT Bank XYNT Banlk XYNT Bank
LI7. Fiwan Lal Jewan Lal Jimmn Lal Jrwmn Lal Jiwan Lal
RA Jills RA Jilla R.L. Flla RA .gilla RA. Jilln
128, Sita Ram Sitn Ram Sitm Ry Sitm Fam Sita Ram
KV. No.l, AMC KY. No.l, CAM KV, No.l, AMC KU Mol AMC KY. No.l, AMC
Luclonoe City Laschersowr City Luclenow: Ciky Lausclerome Ciky Laschorsowr City
Lecturer, AIE Lecturer, AIE Lecturer, AIC Lecturer, AIE Lecturer, AIE
New Delhi - 41 New Delhi - 41 Mew Delhi - 41 Mew Dethi - 14 MNew Delhi - 41
| 130, Parvati Raju Parvati Raja Parvati Raju Parvati Hoju Parvate Raju
Chiel Crganiser Chief Organiser Chiefl Organisar Chiefl Organiser Chief Organiser
ALAER, Phageam  ALAER, Phogearn  ALAER, Phogwam = ALAER, Phogwarn  ALAER, Phagwam
Hotel Sihver OK Hotal Silver OK Hotel Sibeer OK Hotel Sibrer OK Hotel Silver OK
Clemon Toan-37 Clemon Town-37  Clemon Town-37 Clemons Town-37  Clemon Town-73
{132 Prakash Bhat Prlmsh Bhat Prakash Bhatt Prakash Bhat Pralkash Bhat
Devi Garh Diewi Garh Devi Garh D Garhr Devi Garh
Udaipur - 96 Udaipur - 36 Udaipur - 96 Udaipuir - 96 Udaipur - 62
133. Meena Dash Neena Dash Ninn Dash Neena Dash Neenn Dash
LPU, CM/93 LPU, CM/93 LPU, CMFf93 LPU, CM/39 LPU, CM/93
Jalandhar- 91 Jalandhar-91 Jalandhar - 91 JalnnOhor-9 1 Jalandbar - 19
134, Ranjan Jha Ranjan Jha Ronjon Jha Ranjan.Jha Renjon Jhs
News Reader MNews Rider News Reader MNews Reader MNews Reader
Cee News - 43 Cee News - 43 Cee News - 43 Zee News - 43 Cee News - 34
135. Mukesh Kumar Mulkesh Kumari Mulkesh Kumar Muleesh Kumar Muleesh Kumar
36, Sakt. Mann 36, Sakti, Mann 36, Shakti, Mann 36, Sakt, Monn 36, Sakti, Mann
Directions ({136-140) : In each 1381} Miller [ Million
ueestion below five words ore given. 31 Millet 4 Minder
You have to find out which word wall (5] Mincifid _._.1.‘._ i hd’lu--.;
be third after the word ‘o furve 1o out whic
; ; s amaadl 190 @) Thed (2 Thlege 5ars :
in the alphabetical order. The mumber g combination, which represents the
in the brocket representing the third 31 Timber (4 Tamely group of digits. Serial mumber of that
word is the answer. {5] Taught combination is your answer. I none of
136.1) Prams {7} Prance 1401} Source {2 Souring the combinations is correct, your an-
3 Prown ) Prate e ) mwer is (5§ ie. Tone of these'.
(5 Praver b F F 141. 472583
13741} Killable 2 Kilckwvie South ; (1) SMEKTZ [ ZNEKTS
i e Directions (141-145}: The ruum- G} ZNKETS |4 ZKNETS
- ber in each gquestion below is to be |54 None of these
5 Kingdom

ondified using the codes given below :

Disclaimer: We are providing a piece of information. This is not an official one.

This might be used for reference pur,

pose.
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1432, 861259
{1) TFDEEM {3 TDFEEM
3] TFDEEM ) TFEDEM
|5} Mone of these

143, 519473
i} KDSZMN (2} KSOMZ
(@) KDSZNM (4} KDSMIN

|3} None of these

144, 234786
(1) ESENMT (% ESZTNF
(31 ESENTF ) EESNMT
{5} Mome of these

145, 564183
(1] KFZDTC (2] KFZDTS
[ KFZSTD %) KZFDTS

(5 MNone of these

' Directions [146-150) - Refer to the data in the following table to an=wer
these questions.
Humber [in M of Graduates and Post Graduates enrolled in

5] MENEIFAROE D
E [sfulmw/m ] nl
i) . Al 2R S 3 )
G 12| 13| 15| 7| 12| 14| |

146, In which Lrnn'crlrt_l,r the :r.|.|.1mb|:r

(3 None of these

147, What was the difference between
the mumber of Post Graduates
enrolled i University D in the
year 2008 and the number of
Graduates enmlled i Universaty
F in the year 2003 7
(1} 16,000 2 1,600
3 1400 4 1,400
[ None of these

148. What was the total rumber of Post
Graduates enmolled in University
G in the year 2006 7
{1] 2,100 {21 21,000
3 2,400 1 24,000
5] Mone of these

148, Number of Graduates enrolled in
University B was highest in which

year 7
(1} 2002 23 2003
(3 2008 ) 2007

{5 None of these

180, How much total mumber of Post
Graduates and Gradvnstes together
was enrolled in University C in the

year 2005 ?
1) 3,300 2} 33,000
3 4,300 4} 43,000

|5) Mone of these

ENGLISH LANGUAGE

Directions (151-165): Fead the
pllowing passage carefidhy and answer
the questions given below it Certain
words f phrases have been printed in
bold to help you locate them while an-
swering some of the guestions.

Onceupon o time, there ived o
Hon in a forest. A jpckal. o crow and o
woll had developed friendship with ham.
However, oll the three hod a selfish
muotive behind this so-oalled friendship.
They knew that the lion was the king
of the forest and friendship with such
a fBerce creature would abwvmys help
them. To meet their selfish ends, they
started obeying and were always ot the
service of the lion.

They didn't howe to make ary
efforts to search for their food, as the
bom gave his leftover meals o them.
Moreowver, they beoame powerful os
they were next to the king of the for-
est. Une day, o camel, who came from
some distont land, lost his sy and
entered the same forest where these
friends bved. In the meantime, these
three friends happened to pass the
nameway that the came] was wander -
img. When they saw the comel, they
realized that he did not belong to their
forest. The jacknl supgested to his other
o fmends, "Let's kil amd eat him.”

| The wolf replied, "It is a big animal

We connot kill him like this. | think,
this camel.” The orow agreed with the
waolf s iden. All of them went to mest
the hon.

U renching the lion's den, te
jockal approached the lion ond said
“Your Mugesty, an unkreram came] has
vour consent. Let’s kill him; he oomulkd
maler a nice meal.” The Bon roomed
Iowsdly on hearing this and said, What
are you saying ? The camel has come
for refuge in my kingdiom. It is uneih-
icnl o kdll him. We should provide m
the best shelter. Go and brang hm to
mee.” All of them were dispirited to heor
these words from the king. They unr
willinghr went io the camel and told him
aboait the lion's desire o meet him. The
camel was scared about the stdinge
offer. He thought thast his end had oome
and in a Bttle while he would beoome
thee Bon's meal. As be couldn't even es-
cape, he decided to meet the lion. The
selfish friends escorted the camel 1o
the lion's den. The Bon weleomed the
camel warmby and assured him of a
safe stay in the forest. The cumel wos
totally amazed to hear the lion's wonds.
He happily started Bving with the jpck-
al. the crow and the woll

One day, wien the lion was -
ing for food, he had a struggle with a
mighty elephant. The lion was bodly
injured in the stroggle and beoame in-
capable of lnunting for his food. Thus
the lion had to sustain without food Er
days. Chee to this, his frends oo had
to go hungry for days as they ol
depended on the lion's kil for their
food. But the comel was satisfied groas-
ing aroured in the forest

All the three friends were wor-
ried and disrussed the matter smong
them. As the jackal, the crow and g
woll had sei their evil eyes on the oomel,
they met onoe again and devised a plon
b bl the covrmel. They went o the oamel
and said, "Dear Friend, you laow our
ldng has not enten anything for mony
diays mow. He is unable to nint due to
his wounds and sickness. Under sxch
ciroumstances, it becomes our duty to
sacrifice ourselves 1o save the e of
our king. Come with s, we will ofr
our bodies as food for him.” The come
didn’t understand their plan, ot ooo-
centhy nodded in v of it All of them
approached the Gon's den.

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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First of all, the crow carme for-
ward and said, “Your Majesty, | can't
== wour liloe this. 5o please eat me.”
The lion replied, T wouldd prefer to die
than o perform such a sinful deed.”
Themn, the jackal come forward and sd,
“Your Majesty, crow's body is too small
for your appetite. 1 offer myselito you,
as it is my duty to save your life.” The
the plan, now it was the wolf = tum to
offer himself to the king. So, the wolf
carne forward and said, "Your Majesty,
jocie is quite small tojgratify your bun-
ger. 1 offer myself for this kind Joh
Plense, kGl me and appesse your hon-
ger.” But the Lion didn't kall any of them.
The comird, whio was watching the whole
scene feit renssured of his safety and
oo decided o go forward and com-
plete the formality. He marched for-
wimrd ol sndd, “Your Majesty, wine don't
you kill me ? You are my friend. Please
allow me to offer you my body." The
bon found the affer quite appropriate
as the comel himsell had offered his
body for food. The lion attacked the
camel at once, ripped open his body
and tore him into pieces. Thylion and
his friends fensted on the poor camel
151. Why could the lion not bt amy-

more ?

{llHe had become lazy as his
friends had provided himwith
food all the time

{2) There were no animals left in
the forest besides his friends

{31 He had mjured himsslf badly
in a fight with an clephant

{4} He was too old and his bones:
were weak

|54 Mone of these
132 Why were the jackal, the crow

and the wolf friends with the

lion?

[lpAs they got food easily and

were also powerful in the 13-
ON'S PrESernoe
and they could take over the
ldngship soon

3 As they loved to hunt along
with the lion and he tought
them new tricks every time

%) As there was no other power-
ful animal in the forest

Bl As they were scared of the
lon and had no other alterma-
tive

153, Why had the comel come bo the
forest in the first place ?
1] He wanted to meet the lion
121 He was starving and was look-
ing for food
(3] He was in search of friend=s
) He loat his wey

him?

(1] He had beeached the Lion's
secure forest and was sume to
be punishied

{2] He feit that the hon would eat
him

(3} He knew that the bon would
ask him to Gght with the el

phant
4] The three friends had told him
that the lion wanted to arrest
himn
|5} None of these
135, Which of the Rllowing can defi-
the story 2
[#) He was ferce
(B) He was young
(C) He wis trusting
HOnlyiA)
{2) Only (A} and (C)
3} AL (A, () and (C)
) Onily (C)
{5) Only (1) and (C)
How did the jackal, the crow and
the woll finally mansge to eat the
came] ?
[1jThey tricked him into offer-
ing his body to the lion
2} They poisoned him
{3} They recuested kam 1o be their
e

[#) They killed him ns soon as
they srw him in the forest
|5} They forced the lion to eat him
What made the camel offer his

bocy to the Gon 2

[1] He feit very sorry for the lion
ns he had grown thin ond
weak

(2 He wanied to end his own life

(3] He knew that the lion would
die an him

i The came]l would rather hae
the lion than an unlmowmn el-

ephant

5] Since the lion had rejected the
other friends bodies the coam-
el was sure that the Tion would
not eat him as well

158. Which of the following connotbe
snid about the jockal, the crow
and the wolf 2
{A) They were sensitive
B} They wene selfish
NOnlyiBj)
12} Only {C)
{3 Omaly jA)
(4 Ondy [B) and (C)
I5) Cinly ) and |C)

159, Which of the fallowing can be the
most appropriate title for the sto-
y?
(1] The old lion
[Z] The Mighly Elephant
(3} The Selfish camel and the

Brave Friends

4| The lion and the Porest

{5) The Shrewrl Friends and the
Innocent camesl

not eating the crow 7

(1} He would prefer to eai the
carme]

(2] It was wrong to eat fMends

|13} The crow was. too timy to be
enten

4] The crow wos not good to
Enste

5] He wanted to et the fiooc in-
stead

Directions [161- 163}: Chocs=

the word/group of words which is

most similar in meaning to the word ¢

group of words printed in bobd as vsed

in the passage.

161. GRATIFY
{[}delight |2ihuarmsour
(3 gratefal (4] please
5] =atisfy

162. AMAZED
{1} surprised |2} emotional
{3 applled (4 scored
{5) troukled

163. WORRIED
Mangry (3 concerned
|3 redmed ¥ amnoyed
|5) confused

Directions (164- 165]): Choose
the word/group of words which is

group of words printed in bold as used
in the passagr.
164. AFFROFRIATE
(1} anbguie |2} harmdfiil
|3 proper ¥ unsuitable
|5] vicious

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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165, INNOCENTLY

Mfcnowingly (2] offensively
[ secretly (4] kvingly
I5) hlisshlly

Directions (166 - 170) - Which
of the phrases (1], (2}, (3) and [4) gven
belowe ench sentence should replace the
phrase printed in bold in the sentence
to make it grommatically comect ? B
the sentence is cormect o= it is gheen
anid no correchion is regquired, mardk [5)
as the answer.

166. Meena loved to shop and goes
out Trith her Fiends whenever
she got time.

{1} went outside nlong

{2} went out with:

{3) goes for outing to

) po outing and

|5} No cormection requined
Manoj wos many better at
Bpaorts than Anurag.

(1) muach good than

(2} many good to

{3 much better at

i much better than

{5} No correction recpuiresd

It was very dark and Trisha was
‘too scary to go home alone.
{1} too scoring

{2) to scary too

3} to scare too

%) too scared to

(5} Mo cormection required
termupted when they are busy
working.

{1} do nod lilee being

(2 do not like

{3 not Bking when

4] o like being

{5) Mo correction required
170 The crowd loved her Perfor-

mance and gave her a stand

ovatlon as she left the stage.

(1} stand ovate

2} stood ovation

3} stand the owation

14} Standing ovaton

5§ Mo cormection reqpuired

Directions (171 - 1753): In each
question below, a sentence with four
words printed in bold type is given.
These are numbered as (1), {2], i3} and
4. One of these four words printed m
bold may be either wrongly speit or
inappropriate in the context of the
sentence. Find out the word which i=

wrongly speit or inappropriate, ifany.

The mumber of that word is your an-

swer. If all the words printed in bold

ore comectly speit and also appropri-
ate in the context of the sentence, mark

15 iie. "All correct” ms vour answer.

171. Quality (1}/is neveranacecident
|2}/ and is alwmms the result of
sincere (3] effort. (4, All cor-
rect [5].

172, Shorad consoled | 1)/ Vijoy and
asured (2]/ him that his son
would return |3}/ home by sun-
set. (4)/ All correct (5]

IT3. One of the monkeys was keep-
Ingil)/ o track (2)/ of the things
|3} § done by the King's men from
a distance. (4)/ All correct (5)

174, The swan lived in o pawned (1}
and hind striking (2} golden |3)/
feathers. |4)/ All correct 5§

173, The mother and her daughter 1)/
got them enough (2)/ money to
leed [3)/ o comfortable () / Life.
All correct (5
Directions (176 - 180] - Fear

range the following six sentences [A),

{2, (C}, (DY, (E] and [F] in the proper

serquence to form a meanmgful para-

graph; then answer the questions gv-
en below them.,

A O reaching inside the droum ot
was disappointed to fnd noth-
imgg but wood and leather.

B} One day ajackal was very hun-
gy and it reached the king's
battleground in search of food.

T} On looking for the source of the
o=, it o & war-drom near-
by amd mistook it be a huge an-
mmal with lots of food inside it

{4 With great difficulty it coome out
of the drmam, backed off and
crept oweany bo safety looghing ot
its own judigement.

(B With great difficulty it pienced
the drum and reached inside.

{F) Suddenly, it heard o loud noise
and was frightenesd.

IT6. Which of the fallewing should be
the FIRBT sentence after rear-

rangement ?

(DA B
3 C D
(SI1E

177, Which of the following should be
the SECOND sentence after re-
arrangement ?

(DA 2B
@3 C 4D
(SIF
1T8. Which ofthe following should be
the THIRD) sentence after rear-
t?
DA 2)B
Bc |4
|SIF
179, Which ofthe following should be
the FOURTH sentence after e
£
(DA 218
mc HME
[HF

180. Which ofthe inllowing should be
the LAST [SETH) sentence of
ter remangement *

(DF @ E
(3D @c
{58

Directions (181 - 100§ : Rl
each sentence o find out whether there
is any grammatical error in it The e
ror, if any, will be in one part of the
sentence. The mumber of that part is
the amswer. If there is no ermor, fhe
answer is (5] ie., No Emmor., (gnome
the errors of punetuation, if amd.

1Bl. People who intend (1] to v
thrilling [3]/ to see the scenario
here. {4/ No Erroc(5)

182, In such delicate matiers. (1)) we
often go with (2)) his advioe as he
has (3] been handling sich oms-
es effectively. (4)/ No Emor (5

183, You should think that (1} of all
the possibilities (2] heibre you
take (3} amy decision. (4 No
Error [5)

184, He was too tired that (1) he
coudd mot crose (2)f the stoeet
even with (3] the help of a por-
ter. {4)f No Ermor (5

188, My desire to (1) meet the Pres-
ident (2} ) without prior (3} ap-
pointment. (4] No Emor (5]

186, Whenever a man attain fame, (1)

his personal qualities ane (2)1

imitated by others who (3)) ae

close to him. (4], No Emor (5

Rivers, moumtains mnd deep for-

ests {11 are the places [2) F mos-

Iy like by (3)/ people Tving in

urban areas. (4] No Emor 5

When we visited his office (1)/

we found that (2)/ he was sSp-

ping coffee (3)f with some of

his colleagrmies. (4} Mo Emor [5

187,

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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1E8. Forgivingup [1)fthebad hahit
of smoking, [3)/ use ofchewing
gum or [3)/ similar other meth-
od can be helped. (#)/ No Emor
15
190, Hisobviously reluctance{l] fwas
viewed seriously by (2)/ his su-
periors and [} he was suspemd-
ed. (4} Mo Ermor 3
Directlons (191 - 200): In the
foliowing passage there are blanlks,
ench of which has been numbered.
These mumbers: are printed below the
pemsage and against exch, e words
are suggested, one of which fits the
blank approprately. Find out the ap-
proprate word in each case.
Clement Atbee became the Prime
Minister of England after the Secomnd
Wiorld War. Winston Churchill who had
successfully US1) England and the
allies to victory over Hitler was now
rejected by the English people at the
hustings. Labour Party was (1832) o
power and Atlee became the Prime
Minister. One of his memorable tnsks
wis that he was (193} in granting In-
dia its freedom. Atlee was bom ina
well-to-do (194] but he abways had
{195} for the poor and the downtrod-
den. He is known  for leeeping (196}
ond Ceoperation among his cabinet col
lenguies. Mot that there were no differ-
‘beers, but Atlee, by his [(198) notone
wxl positive approach, always man-
mged to keep them topether and hod
contral over them. (1899) being syvmpa-
thetic to the cause of India, and grant-
ing Indin freedom, he (200) many @
constructive aclivity for his country
loa, Eke nationaliztion of some indus-
tries, and starting national health

scheme.
181 (ljisolated
2] established
[3) concperes
M T
154 It
192 (1) overse (2} close
13 swept 4] vased
18) immune
193 1) i d (2 instrur |
(3} emger {8 retuctant
| particular
194, (1) clas= {2 origin
3] country B family
% Community
(3 apathy [#joks

%8 (1) assistance |3} conwiction
1% conflict

157. (1) among (3 withim
|3 between 14 from
) with

138 1} withdrawing
(&) pentle
3] stubbom
1] aggressive
[ docile

199, (NAlthough (Zparitheonat
13] He (4} beside
15 after

200. [1) demonstrated
(3 mitated (3] by

{4 Observation 3 did

Disclaimer: We are providing a piece of information. This is not an official one.
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Previous Question Papers

SBI BANK CLERK EXAM - 18 - 07 - 2010

REASONING

L. In a certain code KINETIC is writ-
ten ms TICDKIN. How is  BMA-
CHINE written in that code ?

(1] EMICMAC  {2) INEGMAC
{3) INEGCAM 4] ENIGCAM
(5] INEGMCA

2. P means %', O means ‘4, B
means™-' and 'S’ means's' then—
46 RLI2 P3E1EBQO =7

(1) 13.3 @) 4
i3 36.5 i 16
(= 12

3. f each wowel of the word DE-
FAULTS 15 changed to the next
letter in the English alphabetical
series and eoach consonont is
changed to the previous letter in
the English alphabetical series,
how many alphabets will appear
twice in the new formation 7

(1} MNone 2 One
B Two {4 Thres
5 Four

4. VT is refated to OO in the same
wiry as MK is related to’___

{1 HF [l (e
i3 RP 4] JG
(5 QO

are there in the word RATIONS,
each ofwhich has s many let-
ters between thom i the word
[ both foreard and boackwmnd
directions) as they have betareen
them in the Enlgish alphabetical

series P
(1) None 2] Cne
(3] Twao 41 Thres

(3 More than thres

6. The positions of how many digits
will reminin the same if the digits
in the number 35928164 are re-
arranged in the ascending order
from left to right
1) Mone 2} One
3] Two 4 Thiee
{5) More than three

7. There are four bags T, 5. V nnd
W, each having diffcrent weaght
Bag T is lighter only than 2. Vis
lighter than W and W is lighter
thanT. Which of the four bags is
the Bghtest ?

s 2w
3T (il
(3 Cannot be determined

8. If it is possible to make only one

i word with the flrst,

fifth, seventh and the eleventh
letters of the word "REC1PRO-
CATE" which would be the sec-
ond letter of the word from the
left 7 If more than one such word
can be formed, ghve X as the an-
swer. If no such word can be
formed, give £ s your answer.
in R 2P
3 E 4 X
i5) Z

9. How many meaningfial English
words can be made from the let-
ters EAP, using each letter onby
once in each word 7

{1) None 2 Cne
3 Two [ Thres
{5] Four

0. Meghna drives 10 ko towasrds
South, tokes a right tum and
drives & km. Bhe then takes on-
other right bum, droves 10 ko
and stops. How far is she from
the storting point #

(1} 16 dam. {2 6 .

i3} 4 km. 4 12 km.

(5 MNone of these

Directions [11-15] : In each
fquestion below are three Statements
I and II. ¥You have to take the three
given Statements o be true even if they
=eem bo be at variance from commonty
known fiacts and then decide which of
the given conchisions logically follows
from the three Statements disregard-
ing ¢ keneram fncts.

Give answer [1) if only Conchr-
sion | follows

Give answer (2] if only Concha-
sion [l follows

Give answer (3] if either Concha-
sion | or Conclusion [ follows

Give answer (4] if neither Con-
chasion 1 mor Conchusion [ follows

Give answer [3) if both Conch-
sions [ and I follow

11. Btatements:

All Jeeps are cars.
All cars are buses,
Some buses are trucks.

Conclusions:

1. Somejecps are trucks.

11 All jeeps ore buses.
12, Btatements:

Some balls are reckets.
Some rackets are bats.
All bats are nets.
Conclusions:
L Mo et is o ball
O. Allrackets are nets
13. Btatements:
All Compuaters printers.
All printers are Staplers
All Staplers are Scanners.
Conclusions:
I. All printers are Scanners.
1. Somne Staplers are Comparters.
14, Statements:
No dnum is o guitor.
All pustars ane vinlins.
Bome violins are fhutes.
Conclusions:
I. Somewviolins are guitars.
II. Some drums are flutes.
15. Statements:
Al guns are cannomns.
All arrows are cannons.
Home cannons ane bows.
Conclusions:
L Someguns mre armrows.
1I. Bome arrows are bows.
Directions {16 -20] - In the -
lowing questions, the Symbaols @, ©,
Y, ® and -k are uscd with the follow-
mg meeaning as illustrated below :
PCQ means P is either equal to or
greater tham .
P ¥ menns P is smaller than 1.
‘P ¥ means P is either equold to or
smaller than Q.
P ¥ means P is greater than F.
P S Q means 'Pis equal to 0F.
Now in each of the following ques-
tions assuming the gven Stoterments
to be true, fnd which of the teo oon-
clusions | and II given below them &)
are deflnitely true 7
Give answer (1) if only Conchi-
sion [ is true.
Give answer (2] if only Conchi-
mion [T is true.
Give answer |3) if either Conchr
sion 1 or [l is true.

Disclaimer: We are providing a piece of information. This is not an official one.
This might be used for reference purpose.
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Give answer (4] i neilher Con-
chagion | mor 1 is true.

Give answer (3] if both Conchi-
mons | and [0 are true.

16. Statements:
L MM3INN%EK
Conclusions: 1. K L
mL N

17. Statements:

ACB BmCC D
Conclusions: |. DOR
I C%A
18. Statements:
H®%WG GOF.F E
Conclusions : [ F%H
I GoE
10, Statements:
RS SOT,TEV
Conclasioms: | ROT
oy S
2. Statements:
w L xiay ¥ as=
Conclasions: | W% Y
. Zmw

Directions (21 - 25): Study the
answer the gven questions :

Eight friends L M, P, Q, R, 5, T
ol V are sitting around a crcle fac-
ing the centre. L sits third to tHe right
of M and L sits second to the keft of P.
R od 5 =it next to each other ond
nore of them is an immedinte neigh-
bowr of L. €3 sits second to the right of
T, V sits second to the right of 5.
2L, Who sits third to the left of V7

(% 2R

3 P HL

5} Mone of these
2L Which of the following pairs rep-

resents the immediate neigh-

bours of P 7
1) RS (2 2T
@ MP (4 ROy

{3 None of thess

23. In which of the following groups
of people is the third person sat-
ting exactly in the middle of the
first amd the sscond persons #
{1) PRS 2} MET
& LNT {4} MPR
{2 None of these

M. Four of the following five are
alike in & certain way based on
theeir positions in the above ar-
rangement and so form & group.
Which is the one that does not

belong to that group ?
11y B @ PT
i3 VR 4 MP
{5 VP

23, Starting from L, ifall the fiends
are made o sit in the alphabet-
cal order of their names m the

doclowise direction, the positions
of how mony jexcept L] will re-

main unchanged 2

{1] None ' [ One
3] Two 4 Three
|5) Four

questions ire based on the e threes
digit numbers given below :
76l 548 392 615 249
6. [ all the numbers are aranged
in descending order from left to
right, which of the following will
be sum of all the three digits of
the number which is second from

the right ?

i1} 15 i@ 18
@ 14 17
5 21

2T, What will be the resultant if sec-
ond digit of the hightest number
is divided by first digit of the low-
est number 7

[y 15 (2) 2
3 4 49
=3

. T iz added to the first digit of
every odd number and” 17 is sub-
tracted from first digit of every
evenn number, what will be d&f-
ference between the highest
number and the lowest mamber

thus formed 7

{I] 569 2 413
13 453 ) 512
|51 469

29, If in each number all the digits
are mrranged in descending or-
der from left to nght within the
rarmber, e mamy odd mumbers
will be formed ?

1} MNone 2 One
13} Twos [ Thres
I5} Fonur

30, The positions of the Grst and the
third digits of each of the mum-
bers are interchanged. What will
be the difference between the
Erst and the lnst digits of the sec-
ord highest number thus formed?

(1) 2 2 2
Br 4 4 6
B 3

Directions |(31-33) - Study the
follrrwing armmangement carefully  and
answer the questions given beldowr :

AQ2KFAETS9NMISEG

%iEVLE WH4E3ISOUEC

31. Which of the following is the ninth
to the left of the eighteenth foemn.
the left end of the above arrange-

ment ?
1w BN
L&) s

3 None of these

33, How mamy such odd mumbers are
there in the above amangement,
ench of which is immediately pre-
oeded by a consonant and alsn
mmmedintedy followed by o conmo-

nant?
1] None 2 Cne
3 Two 4 Three

{5 More than three

33. Ifall the letters and symbols are
dropped from the abowe armnge-
memnt, which of the folleaing will
be the zixth from the ef end of

the above armngement ?
7 28
B3 (Sl

= #

34, How many such symbals are there
in the above armngement, esch
of which is immedintely preced-
ed by a number and also imme-
disdely followed by o letter 2
{1} Nooe 2} One
31 Two 4} Three
(3 Maore than three

38. Four of the bllowing five are alike
n a certain way based on their
positions in the above armnge-
ment and so form o group. Which
is the one that does ot belong

to that group ?

{1] KE& 2} SN9
3 MeS 4} 453
5 (8L

Directions (36 - 40): in each question below is given a group of momber
Symbal followed by fve combinations of letters mambered (1), {2), (3}, (4§ and [5).
Wou hovve to find out which of the combinations cormectly represents the group of
mumber symbaol based on the fbllowing coding System and the conditions and
miark the numbers of that combination as your answer.

. At

| Syl
Letters
Code

Conditions:

2o/ 8|w

|w|B/F|PMicl1k|A|E[T|QH|R|U
B s | | |

S(wlo|g|6[04 |73

] If the first dememnt i an even mumber and the last a symbaol both these ane

to be ooded as L.

Disclaimer: We are providing a piece of information. This is not an official one.
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@) i first dement is a symbal and 38. 47319

last a pecfect Square, the codes (1) TQRAWT  [2) TOAWRE NUMERICAL ABILITY
for both these are to be inter- i3 BORAWT 43 TORAWE Di i {31 - 75) : What wal
= I.HIIFd

151 BORAWE come in place of the question made 73

(i} If both flist and last elements are in the fllowing questions ?

Symbals the codes for both these 39, 532464

are to be coded as the code for (1} LAWOEL (3 CAWGER 516235 + 433 - 68 = 7 + 13
the last symbol. [ KAWQEC 4] CAEWDK 1) 5352 2 5253
36. FTHaIE ) KAWDEK 3) 74T (4 7497
i i - W T 5 ﬂq 3 z&nxr?aﬁ 10=7
ARPFUK 1 KRPFUK RFPL :
g:.q.m'm 4 e ,Q (1) 182 {2 172
37.652 & £ CRPLIEM @ 118 4 108
{1) ECWMFH (2] ECWAMFE 6] CELIM 5 None of these
B} ECWMFE 4] ECWFME ] MREFPUM 53,8734 + 6398 - 11365 =7
5} ECMWEE (5] ERFPUL (1) 37.57 [2) 2667
@) 3767 1) 35.57

DMrectons (41-50) : In each of the questions ghven below which one of (5 Nooe of these

the five answer fgures on the rAght should come after the problem Bgares on 84 32% of3S0 = T3 + 7
the left, If the ssquence were continued ?

(1) 40 @3
Problem Flgures Answer Flgures 3 42 4 185
41, (5 MNone of thess
o Tl | || de o 2 7
05 5 af 3 of [¥ = 284
@ W @ e e S
+1, i } 845
: Fi [ i3 805 3} T35
dlololole] [Clele[elc] o= .
T TEE 36, & x 5 = 545 - 324 + 7
Y 3 {1) 669 (2 579
“L — i }(" it :;-{ . ':}/' :,(' x {3 459 4 679
LI Bl B bl L] N by i |51 Mone of these
L T = | (54 e —
. R T R N e Bt JE' HATE LS -2 27
seuel>s ELED I - i} 21 2 vaes
i @ @ @ & @ 351 & 1o
3. __ =l {3 None of these
mull funl l-ul - ol - =0l sl - w B ool Ee s i keabenit
T T 1”3[2 6 2 i
s : n,:_; -:n”" ::_; 3 BELEE: 1
= UL == — THLLTE R TR LR JTTAT (3)2 2y
in EI =] ] 15 |5} Mome of these
47, o WEl A K= afu oA MU AN KAl A AW B9, 768 ol [7) - (11F - 525
F Y = L ™ = - b - {1} B50 @) 750
ElaDx=xs = 5 s A EEs s Msw 3 T40 ] B4
[N [31 (4] 5] (5) Nome of these
iz . o e i 3 5 . eD=e=0le =00 e =l =] 60, 325~ (12F + 75 = (7 - &
5 D5 al= @0 =es D s Als AEE 5 AT AEEAS [T [ 224
[ =] 318 [4) EE24
49,
= I e ] | 15
M| M|y A 8| HE ) HE| B HE i
= 1
W@ @ W B a1 25 of 73 ool 67022
E N G U un
o L I E:!nj cuc :ru:rcu::t:: cle = 1) 319 A 635
Uulnijiwiluyin ulnlmalnlu @ 1694 #1495
M o2 @A Mm@ ( None of these
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61.68.032 - 13.108 - 17.096 = 7
{1) 37.628 [ 3B.728
(3 37.B36 [ XB.536
[5) None of these

B3, (7% of 650 = (20§ + [4)

e @ &
@ JE 4] (B4
& 32

64 3237 + 4343 - G565 + 2131 =7
@ 3311 @ 4141
313131 {44411

) & [2:-]3
i3 48 29
3 None of these

66, s - J520 = 0T
i 42 @4
[ 2 ) 16

5} None of these
6T, 6% of 220 - 13% of 140 = 7
1) 62.4 2] 634
3 642 ¥ BE.2
5} Mone of these
6. 5B + 621 423 -45=7
{1) 50 2 60
A 40 1) 30
{3 None of these
B0, {0.04F + $0.008) x (0.2 = (0.3
{16 12} 5
& 8 e
{5 None of these
Mo2x7T+B-6380=-7
1) 166 2y 187
[ M) 167
{5 MNone of these

)
TL. 16.5% of 2400 = 3 off?)

(1) 594 2} 584
@ 264 ) 236
{5 None of these

T2 369H -48 + 179499 =7

(1) 6.833 2] B.633
{3) 6283 i4) T.383
{5 Nooe of these

73, [Jﬂ_uf-wmﬁ
nz m J&
B 45 +7 @ 4B
151 None of these

LopE 53 st
™ Agxlgrig=tiz

1 1
{1 3-5 ] II
[ 1
m2g "2
|5 None of these
T8 (F x4 x5 +36=(7-B0
(1} (rocg i2) i
# 100 1o
8 1o

T6. The average speed of a bus is
three-fifth the overnge speed of
a car which Covers 3250 kms. in

65 hours. What i= the overage
speed of the bus ?
{1} 30kmph  (2)20kmph
@ 3Skamph  (4) 36 keph
(5] None of these

TT. A train crossed a platform in 25
seconds, The length of the plat-
form is 240 metres. What is the
length of train 7
(1) 140 metres (2} 200 metres
B} 180 metres
4 Cannot be determined
|5} Mone of these

TH. Vijay donates blood thrice in two
years esch Ume 350 ml. How
mamy litres of blood will he do-
nate in & years ©
1 12 2 315
B 4.5 6.3
|15} None of these

T9. The sum of fve consecutive odd
mumbers is equal to 245. What
iz the difference betwesn twice
the largest odd mumber and the
smallest odd mumber ?
(1) &3 @71
& 51 4 65
{3 None of these

BO. Mr. Bagdi purchased an AirCon-
ditiorer for Bs. 12,000 and sold
it for B=. 15,000, What was the
profit percentage ?
1] 25 @ 35
3 20 4 15
(5] None of these

Bl. What is the value of three-sev-
enth of 35 per cent of 420 2
1} 52 @ 65
B 63 h 56
|5} None of these

B2, Harkamal purchased B kgs. of
grapes ot the rmte of Rs. 70 per
keg. and 9 kgs. of mangoes at the
mte of s, 55 per kg, How much

amount did he pay to the shop-
keeper 7
{1] R=. 1400 2§ R=. 1505
3 Bs. 1040 @) Rs. 1055
|5} Mone of these

83. Ta number is added 1o two-Bfth
of itself, the value so obtained is
455. What is the number #
1§ 400 (2 350
3 325 ¥ 420
(3 None of these

B4. The body weight of seven stu-
dents of a class is recorded as
54 kgs., 78 kgs., 43 kgs, B2 kgs,
67 kgs, 42 kgs, and 75 kgs.
What is the avernge body weight
t=fall the seven students 7
(1) 60 kg=. (2} 63 kg,
B 71 kgs. ) 73 kga.
{5] None of these

B3, What will be the Compound n-
terest accrued on a sum of
Rs. 6500 ot the mte of 4% per
annom in 2 years ?
(1) Rs. 520,40 [H R=s. 703720
3 Re. 53340 4 R=. 7,030.40
159 MNone of these
Directions (86 - 88): What will

come in place of the question mardk (@)

in the ing number series ?
86.9 21 45 Bl 122 [
(1] 187 =2 192
3 177 4 189

|5 None of these

87.652 428 316 360 232 7
{1} 218 (3 225
3 204 4 228
{5] None of these

B8. 12 16 32 68 132 (@
1) 196 {2) 232
3 276 213
|5 None of these

B9. Ganeshi's monthly income is
twice that of Jassi's monthly in-
come. Two-third of Jassi's month-
by imcome is equal o Sukkwvin-
der's monthly moome. If Sukh-
vinder's anmual income is R
2.34 lacs what is Ganeshi's
maonthly income ? {In some cos-
es anmel income and in some
cases monthly income is given.
(1} Rs. 14625 [2) Rs. 29,250
(3 Rs. 58,500 (4 R=. 28,230
[3) None of these

90, The angles of a trinngle are in ratio
of 3 : 5 : 4 respectively What i=s
the difference between twice the
smallest angle and the second
largest angle &f the triangle ?
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